r

I 4

PODELNY PROFIL SIL. 11/358

N E Q ?2 i
| 3 2 G
5| 5 8| o <o
> 2 x© :z 5 O
I <= < B8 8
ofEl 8 |3 £
chao N .5|& S M
c s O g % a O
=3 - T
_5%% z=s%[3lg
mx 38| O 5 S| &
>0 sg|ld2 Dss| oS
omegll° £ £g S
xxT 3z|2 § 93y =}
J < x &7, | Y
3 B g3 | T |¥
P g T &2 g |=
N s = O
&
S
@ |5
> N
< <
5 2
= |l B —_— O
Z 2| < —m| 9
- =] B | 9
ol << L] wv OF1d S
) > N — I_ <
[m) @) A Z E
h'4 0’ < _l ~<
| < o s —_ ¥
o X
Nl o B W
o <+ g2 [al | |§ &
| < L NS
O — o = E O z FI) S=
{ 2 w Z |>|w > 2
- << >
AN C glzz| 2| |7 |23 Z| @
— N 2159 2 HISIW =| a
“ul o2l e 5=l ©
= |2l 75| 2 (gl (23 =
F Z|z
b w| 0 |ls -
o : = E = % i 8
m E Q o |2 '<Z:
N »n = els 1542
= & g il ¥ § 3|
o s 12 gl |g|g|® €
= ) S|lo k|S=Z 'z
—% %; Uy =1 -
i3] %06'T—=d ~n¢
- = %00'0=1 00080 . . .
= 7865 — 85865 —] 00°GL N
18290° WA %§\ %0524 00590 2 990
Il
89'/6¢— 69',65—] 0005 -
=
%08'C==d ~n¢ ~ ¢
woaiz4=q 00°0€0 I ¢L0£0S
xosee=1 £6'96¢ — 96965 —] 00'5Z &=
o Kot |
S5 )
SRS %06T-=d I . .
S 400000 0960 — 28'968—4 -
- ? 608667 %06°T-=1 I LO :").
. o : 3
1¥6/6'Y U o | T
| 1'G6¢— €1'G6S—] 00'GL
!
I . . .
. | 3
cresey | ¢/'v6e— ¢1'v65—] 00'GZ o
i n,
. o
| ‘ N (ep =
I 97760 — 8TY6e 9 - g
. I
I oz
! 08°c6¢— ¥8'c65—] 00°GL -
!
MET=d oipcg | 2068 — L¥'c65— 00°05 2
%05'7-=1 I <
> _ . Il
it ovse :
0874 07 : 18'76¢— 88°26¢—] 00'GZ ' L28h
| 17260 — ££°268—4 O 2
. —_ -~ N
I ~- I
| o
: S
| 616 — 68°16—] 00'GL R
\ i :
§A : 8v‘16¢— 6¥° 16— 00°0G x| oVevLY
3 - 2
2. 3 N ! a 1zoesy
S ?% > T = | #0168 — £0°168— 00°Ge
1 > = I =
o . -
8Y80LY & [ . . ™~ 2
@ : 7,068 — LL'06S—4 - i
S I ~- z
= i =)
=g ' 2
® | £v'06¢— 67°065—] 00'GL )
o " 1599 ot ns I
- i & +=q 00659 ‘
Sgn = %05°z+=1 ! 20'065 — $0°065 — 0005 29'c59¥
%’ T (T T ‘ | 2
1 g s s . ¥
BN 0%'682— 6£°685—] 00'GZ a
cCTzo'Y _
ey 3 ‘
V\ Wez = 00019 o) ) ¥£°809%
75'88c— 05'88s ¢ ~ 1,
<t o
S
%09T+=d coie i} ——
xose=1 £9'/8¢— 65'285—] 00'GL 0
%00°0=d ~q¢
s %0g'z—=1 8795 =
g %08'C-=d ~q¢ ¢ ‘ ¢ 0*9:
T e ca'6vS | G1'98¢ — 9£'98¢—] 000S od
= ‘Z—=d e ‘ )
S ) =) Yogg—=1 00688 | o £6°08GH
S ©oe 9 . . . ‘ -
S B2 3 4000=d - —— 66'G8c— 66'G8¢—{ 00°GZ S5
QST Y2005y 20004 0002 23| 1o
el , ! g
= A o MeLrdoo'sos || Jar— Lg'cgo— Lt zi'sosy
1zl 0S g : - -
00 NG X31SNd0¥d Ggesy'y Wi e 5N o ! ~ N
267"y W | o
i [z'e8e— 16'68e—] 00'GL 4
| S
N~
— I 3
o, %0G'Z+=d e : ‘cae— ¢0‘cee — 00* Il
B e oowy | | #0688 — £0'688 —] 00°0S o
= .
S — o| oesery
121 05 z %00'0=1 0082 08'78¢ — 9£*¥8s —| 00'2 2
¥31SNdo¥d o < 9
. o o o
Livy WA =3 00'80¥ < 3 91'80%Y
< [G'Y88— 1G'v8e—  ~ i
) 2 <+ 3
S e 95L05" § S | zzesey
‘ =] > . . . i
CE0LE Y Ui % T 18LLEY B 9¢'y8¢ — ££'¥8¢ —] 00°GL L)
o s G089EY g fﬁ
X8 " . <
2 g e ra3 00'0se 62'v82— 82785 — 0005 g
= ~ 3 =
S s ¢d TS %000=d !
S &g ? v 3| 0004 n5¢0g¢
e SOEEY B x000=1 61488 — 60782 —] 00'5Z AR TAN
= “ 5
&
9 H0S'E+=d 11000 61'c90— 71'c8¢ —4 l\’jﬁ a .
e %05'c—=1 < <) GG 86CY
3 g
— Il
BLGLTY W ‘ ‘ ‘ —
12l 0S v'e8e — ge'e8e — 00'GL ]
A3LSNdOy¥d - é%g%ﬁ# § 3
19Ty UM = %ogz+=d 30.0%¢ S ee'8sey
S s #ose= 60°¢88— €168 —] 00°05 Lo
G 007 0g'zhe =
[a's <)
%05'7-=d 00'08C - ) ) ) ] GT'0STy
%057-=10060C || ——— ¥6'78c— £6'78¢—| 00'6Z A
g %05'2-=d e
% ‘,f,l\’ goo'o=1 00 012 | 'eN i
n ¢ ¢ o
P L05Td : 18'78c— 08'78¢—4_ ~
2 %ogz+=1 00561 [ | ~ S 01261¥
(=]
Q 2 | . . . I
— S | 69°28c— 99'z8¢—| 00°GL -
M . I<)
9 121 0S < »® €991y & | g
S8y & 8 0 ‘
o 005 NG X2150d0dd 8L 008/l U S 28 e P2 | 15288 — £5'288 —] 00°08 « 3] 806
N ¢Sy Wi CCBTLY W el 5 ! g T
oW — [35) - ¢
9LLE1 Y W x 5‘\ ey 5 ! ‘ ‘ ‘ g 0LYE 1Y
- 25 BN | 91288 — G188 — 00'6Z 4
%08°T—=d : S
0 I — o] Lol
%000=d ~q¢ —Gh* — Q6 -~ x %
6 %00'0=1 69°/60 96 IQQ 86 Igg_e ﬁ_ g
ol
— - | gL £6'G80%
o L6TLOY U 2004 =d e | ¥2'z8e— 1£'788— 00°GL 4
%007-=1 00 00 o
0 I S
I ‘ . . B2 crecor
66'cac— 19'c8¢ —| 00°05 & s
I 4
| o
: )
| | —— £0's8c— 66°¥8¢ —] 00°5C -
: S .
I S m| SsYioY
! 7v'988— 2’988 —4 < -
- - 1l
I < <
o
. () ‘S fl‘ S 3
SSSL6'S W S %% "0‘96§ ooy I S I g & seesee
S =3 ‘ Kooy doosse | | 29'18¢— 29'188—] 00'GL P,
Tl 6LEL6C | i
>
&
.. (op] s}
> S B
% S =N 3
(™ 5 .. ol e Nl
o . P 5 o Pa =
a ) L = = = o S
o a > o= 2= w
= — L g =
o = =
o = \% \% E=E RE =
%) N x x N ! > un w




